200201 1211 17,18[]
JLC CAL Group Meetingd 0 [ 00 [

HREEEN Y YARRERNRERERE
JucCALL oo ogd

Juuboboobgtddd

1. 00000000

2. muon calibration
.00CAL00O0OO0COOnoOn
A.000000O0O000O00O00O0O0O
5.000



Juooood
ogd

l. 0000000000000 ODOOO0 ] T

L [ D 143411
%) f ‘tr'\es 77 6O L f Entries 77
- [ an 31.38 | | Mean 18.87
l % 40) — R‘ S 0.4845 “ RMS 0.4928
= L FLW 0.000 B ‘ UDFLW 0.000
|:| |:| |:| |:| |:| . |:| |:| |:| |:| |:| D FLW 0.000 40+ OVFLW 0.000
gaUSSIan — r tngfogog, / -1 = U x2/ndf 0,000 / 0
O — o‘ stant 64,41 + 17,80 — ‘ Constant 59.31 + 8.016
< o0 |- eon 31,38+ 0.1596E-01 L ‘ Mean 18.85+ 0.6155E-01
D D D D D D D D D |:| |:| |:| |:| |:| [©) Sigma 0.4925 + 0.1260 2@ L ‘ Sigma 0.5153 + 0.3951E—01
io) ~ “ B \‘
0000000000000 s 0 I S
“ 0 | N I | S [ 0 [ ! ﬂ | [ I
A 10 0 20 40 60 0 20 40 60
— ADC counts ADC counts
C {“ D 143511 - D 143611
n 40— i Entries 77 60 Ent Ias 77
- L H Mean 20.44 [ Meaq| 33.82
% = ! RMS 0.5697 L Rma‘ 0.4180
> 30 ‘ UDFLW 0.000 L UDF{lw 0.000
@) r ‘ OVFLW 0.000 ovrl] 0,000
. C ‘ | X'/8dE193E-01/ 1 40 | X*/MBf 0,000 /0
O 20 . ‘ | Constant 55.53 + 8.302 L Con‘Jtam 71.90 £ 10.40
- - ‘ Mean 20,44+ 0.6260E—-01 B Me(ﬁ 33.76 + 0.3372E—01
©) C Sigma 0.5553 + 0.5111E-01 20 Sigilo 0.4271+ 0.3488E—01
O ~ [ |
c10- \ B
S - 1 B |
| | — Of | Lol Lo I OT | [ EERE N S I
»
» 0 20 40 60 0 20 40 60

O 05 1 15 2 ADC counts ADC counts

2. 00000000 mean

ool Joogbodgbooguotdd
Jooboooogbouoood




Jduboooogddooond

e OO ODOO Joooooboood

00000000000000000 SESEDDDDDDD

50 ¢ 50 ¢
jz adctem(1,1,1) jz : adctem(2,1,1) [ runl ~ run50 )
35 F 35 E
30 £ 50 E rund5s
25 F 25 £ e N
0 a3 run277 " run 310
12 sy o e 12 \_ run372 "~ run 376 )
R T L B S o R T
50 g 50
45 E 45 £ |:| I:l |:| I:l |:| I:l |:|
40 £ adctem(3,1,1) i 40 £ adctem(4,1,1)
sE o E 0000000000000
o E e 000000
20 F 20 F e
15 = =
0 E =
5 g— 5 if
o0 o0 s00 oo O o ioo 2o S0 w00




calibration constant

. oooo
2GeVmuon U OO OOOOOO adctem ] pedestal < pedex 20

0oooooong IZDDDD
adctem O pedestal > pedex 20

.

Jooogdog

error OO OOOOOMO O
1

v
- s]afufefajafefs

--4---

muon

muon

Joobooooood
0o
Jotbobobod

U

=
obogbotuobgotd



200

N o s3]
(@] o o

# of events

N
(@]

100

80

60

40

20

200

100

80

60

40

20

1,1,1

gauss peak=39.7631
gauss error=0.52289
landau peak=32.8574
landau error=0.490551
landau mean=42.7801

L o
120 140 160

ADC counts

15,1,1

gauss peak=52.7156

gauss error=0.628383
landau peak=43.8756
landau error=0.65666
landau mean=56.577/9

00 120 140 160

ADC counts

N N — IN]
& o)) o) o
o o o o

# of events

N
o

100

80

60

40

20

200

# of events

120

80

60

40

20

J
L 11,11

gauss peak=44.0898
gauss error=0.60255
landau peak=35.7403
landau error=0.554962
landau mean=47/7.2162

120 140 160

ADC counts

20,1,

gauss peak=35.0029
gauss error=2.58381
landau peak=352.6603
landau error=1.53268
landau mean=44.5147

L L |
120 140 160

oiADC counts




0 channel O O Calibration Constant gaussian fit mean

landau fit mean
100 ;

% - TN\ B |
4+ — O
= 80 §
@) o
o 2
2 40 €
C 2
200 e 1 1 o |
O:\\\\‘\\\\‘\\\\‘\\\\i Qi\\\\‘\\\\‘\\\\‘\\\\i
O 5 10 12 20 O 5 10 15 20
oo number of strip number of strip
Z 80 =
S o L
S 60 o4 [
O
S 40 €
<C - 5
DO B
Oi\\\\i\\\\i\\\\‘\\\\‘ Oi\\\\‘\\\\‘\\\\‘\\\\‘
O 5 10 12 20 O 5 10 15 20
100 number of strip number of strip
. [ ; ; Ko | . ! ! !
% 30 O
5 60 g 4
= O
< 40 -
2
20 | | 1 1 ~ : ! ! :
O:\\\\‘\\\\‘\\\\i\\\\‘ Oi\\\\‘\\\\‘\\\\‘\\\\‘
9 5 10 12 20 0 5 10 15 20

number of strip number of strip



100

-

O L ‘ T ‘ I ‘ T I ‘
O 5 10 15 20
number of strip

O \\\\i\\\\i\\\\i\\\\i

9 5 10 15 20

number of strip

O \\\\i\\\\i\\\\i\\\\i

O o 10 15 20

number of strilp

mip error(%)

mip error(%)

mip error(%)

7\ [ — ‘ R N ‘ L ‘ R ‘
0 5 10 10 20
number of strip
7\ [ — ‘ R N ‘ L ‘ R ‘
0O 5 10 15 20
number of strip
7\ [ — ‘ R N ‘ L ‘ R ‘
0 S 10 15 20

number of strip



ADC counts

ADC counts

O
-

ADC counts

o~
O

RN

RN

o CO
o O

N
o O

00
30
60
40
20

00
80
60
40
20

0 5 10 15 20
number of strip

"""""" ’: " """""" P

R 7\
- [ N B ‘ R I ‘ R N ‘ | [ ‘
9 5 10 19 20

number of strip

9 5 10 12 20

number of strip

mip error(%) mip error(%)

mip error(%)

N

O}

o~

N

M

~

N

(©)

~

O 5 10 15 20
number of strip

9 5 10 15 20
number of strip

0 8 10 15 20

number of strip



O I ‘ I ‘ I R ‘ [ — \i
0 5 10 15 20

number of strip

Oi\\\\i\\\\i\\\\i\\\\i

9 o 10 15 20

number of strip

Oi\\\\i\\\\i\\\\i\\\\i

O 5 10 15 20

number of strip

mip error(%)

N

mip error(%)

N

mip error(%)

o))

~

o))

~

(@)

~

N

0 3 10 15

9 S 10 15

0 5 10 15

20

number of strip

20

number of strip

20

number of strip



Calibation Constant [J [J [

U O OO OO calibration constant [ [ [
D000l ooon

(@]
(@]

o
o
\

Juuuut cutd UL

o
o
\

o0 stipd o S.L. O
stip0 00000 stripddododon

oo stripddg S.L. O
stip0 0000 stripd0 00 000O0O

(oooo ) -
adctem < pedestal [J 5rms

yamamoto (ADC counts)

~
(@)

0 I I I | I I I | I I I | I I I | I I I
0 20 40 60 80 100

oo yamada (ADC counts)
adctem > pedestal [J 5rms

N J




O CALUUOLOOUOuoboogun

o

Joobogdug
O S.LUO00000000000 plotdd

>

Pulse Height (MIPs)

4GeV 0OUOOOO runOO0

X >

X (cm)

00O gaussian O 0 0O 0O O

mean = [1 [0 S.L. [0 0 shower [J [

HENRN

pulse height(MIPs)
- N N
o a [}

o

pulse height(MIPs)
= N O
(@] o (@)

(@]

N N
o O

N
(@]

pulse height(MIPs)

0

Juboogtddboodoudod

[ event number=13

 direction=x

[ layer=1

~ X/ndf 1,702/ 6

- P1 8.551 + 3.297

r P2 9.652 + 0.1709

— nzL 06016 + 01553

*""‘T"r/\"r—r" LELNLNLIL)

0 5 10 15 20
number of strip

[ event number=13

I direction=x

| _layer=3 ‘

= X/pdf 4945 /6

- P1 15.85 + 5.330

r P 9575+ 01349

— 5 0.6701 + 0.1768

*""‘-r'-r‘/ \L"wj*""'

0 5 10 15 20
number of strip

[ event number=13

I direction=x

| _layer=5

= X/ndf 1,725 /5

- P1 3439+ 1.639

r P2 10.08 + 0.3287

— P3 08732+ 0.2526

=L ILTLILY! Ll AL NN NN

0 5 10

number of strip

[N
O

20

(@)

OWH\‘HH

pulse height(MIPs)
o

N W
(@) (@)

@]

pulse height(MIPs)
o

W
(@)

pulse height(MIPs)

20 —

0 5 10

[ event number=13

I direction=x
|_layer=2 i\
X 3310 / 6
P1 18.45 + 5.094
P 9.664 + 0.1233
P 06678 + 0.1349
""‘v-'-r’j \‘ﬁ"r'"""

5 10 15 20
number of strip

[ event number=13

I direction=x

| _layer=4

= X/nd0.3325 /6

- P1 2.898 £ 1.246
r P2 8988 + 0.4509
— P3 1.221 + 0.3212
+\-\-\-\m\-\-\h-\-\-\-

number of strip

[ event number=13
I direction=x

/nd0.7542 ] 4
P 0.7745 + 0.7586
P2 10.49 & 0.8133

P3 0.8172 + 0.4013

DI e S TP PITIT AT

number of strip



oulse height(MIPs) oulse height(MIPs)

oulse height(MIPs)

50

20

10

50

20

10

50

N
O

(@]

(@)

| event number=1
 direction=x
| _layer=1

#&Fr‘/‘

TN
%
[an
=
~—
=
<
x’/ndf0.8574 / 6 (@)
P 8.094 + 2991 | "3
P2 8.622 + 01670 | &
b3 0.5071 & 0.1071
S o
/’T\ D
/ \\* D
Q.
A SIS AL NL B B UL

Ojuu‘uu

5

10 15 20

number of strip

L TN
L event number=1 &
- direction=x §
| _layer=3 N2
-+
~ <
= xX/ndf 4815 /6 o
= 1 8.300 + 3181 | g
- 2 8814+ 0.2275 |
— 3 0.9996 + 0.2966
— v \ (])
B / + %)
/ \ o
L y =
- V. N Y o
*\'\'\*\*—Fﬂ'*\ L \\‘T.\-\"'\'\'\+\'
9 5 10 15 20
number of strip
L TN
L event number=1 {
B direction=x §
L _layer=5 N
4+
~ <
= xX/ndf 2.775 /6 o
= P1 7.160 + 2550 | g
~ P2 8.825 + 0.2206 |
j P3 0.8511 4 0.2002 ®
+ f %
— +// \ S
o p | N a
eSLIL YL AL e S S H\r‘r'\'\"'\'\'\'\'
0 5 10 15 20

number of strip

50

20

50

20

50

20

[ event number=1

~ direction=x

| layer=2 ‘

L W /ndf 4.842 / 6

r P 16.20 + 4712
r | P2 8.625 + 0.1263
j L Pal 0.6201 + 0.1266
4\'\'\'\'4—*#/\’\ \ Hw—ﬂ\*\'\'\'\'\'\'
0 5 10 15

20

number of strip

event number=1
direction=x

layer=4
X/ndf 2,018 /4
P 12,31+ 37.55
P2 8.945 £ 0.1260
B3| 0.3683 &£ 0.6033

§

}\'\'\'\“\"‘T"‘T’*/\/l \\#‘Lr"r*\'\"'\'\'\l\'
O 5 10 15 20

number of strip

| event number=1

 direction=x

L layer=6

= X/ndf 2384 /6

= P1 19.51 & 140.0
- P2 —23.01 & 64.47
— P3 12.05 + 12.86
*\'\'\'\"'\'\*\*‘\‘%\'i\ Raiitnetnd LI L
0 5 10 15

20

number of strip




oulse height(MIPs) oulse height(MIPs)

oulse height(MIPs)

50

20

10

50

20

10

50

20

10

TN
L B %)
L eyemt.numberfW o
- ‘d\rect\?n—y =
- oyer— :/
~ <
= x’/ndf0.6256 / 5 (@)
~ P 6.556 + 2978 | g
~ P2 8.700 + 0.1913 |
— P3 0.4527 + 0.1234
— (]
- L E
- D
» /o a
fey e fee®) | ee® e ee e
O 5 10 15 20

number of strip

TN
~ _ %)
L eyemt.number—W o
I direction=y =
| _layer=3 N2

-+
~ <
= X/ndf 1.033 /6 o
= 1 8.939 + 2744 | g,
- Ez 8.635+ 0.2103 |
— b3 0.9782 + 0.2099
- B @
L / + w
B * \ =
- \ a
l\'\'\*\'%“/\#/\ L ‘*W*r'\'\"'\'\'\'\l
9 5 10 15 20

number of strip

TN
~ _ %)
L e.vemt.mumber—ﬁ %
 direction=y =
L _layer=5 ~

=
~ <
= x/nd0.2288 / 6 (&)
= P1 2.749 + 1861 | g
~ P2 6.893 + 0.3370 |
— P3 0.5703 + 0.2409
— (0]
- D
~ 5
L +A a
LIt Ee Re i \*‘\"ﬂ—'—\—'\'\'\'\"'\'\'\'\'

0 5 10 15 20

number of strip

50

20

50

20

50

20

[ event number=1

~ direction=y

| layer=2

B J;)‘/ndf 3904 / 8

L [p1| 18.01 + 5.601

L [p2\ 8.761 + 0.1372
— s‘ps‘[ 0.6258 + 0.1473
1‘.‘.‘.‘._}‘_'_*/‘"‘ | ‘tjlr-‘*‘*‘-‘l‘l\l\l
0 5 10 15 20

number of strip

event number=1
direction=y
layer=4

*\'\'\'\"\"T‘T‘

X/ndf 1.992 / 5
3.411

1 10.70 £
2 8.599 & 0.1467

/P3 0.4888 £ 0.8721E-01

*\#"ﬂir'\'\"'\'\'\'\'

a 5

10 15 20

number of strip

event number=1
direction=y
layer=06

X/ndf 2.191 /5

P1 1.465 + 1.764
P2 8.738 + 2.092
P3 1.182 + 1.269

;\'\'\'\”tr‘?*\/HT*ﬁ"ﬁH\"'\'\'\'\'

a 5

10 15 20

number of strip



bbby

Ve I
O CALUOUOouoodoodn 00 2-D histgram O

— Jubogubotdugboubgdn
Jobood

- J

HRENRN Juoguo

0000 onootgd 42 L
L 9.530
Oo0o0ooooooobooooogodgd G>J‘*OO # s 04651
FLW 0.000
,é\ ° ENTR\ES 5;;2 “G—on B Fniﬁ 29.35 3.002
o e 8.00 308. 0.00 @) 4396 + 19.38
~ L 84.0 0.489E+04 0.00 :ﬁ: 9553+ 0.1139E-01
2 <L 0.00 +.00 0.00 300 |- 0.3465+ 0.1037E-01
ILI_J 14i 250 —
= 12 +— .
o - 200
X ol B
i 150
s L
6 |- 100 |-
. L
50 |-
, L
i o \ Ll \ I B Ll
o b b b b L e b L L L 0 2 4 6 12 14 16 18 20

‘x of D.C.(cm) x of TEM (cm)



x of tem(cm)

x of tem(cm)

20

20

1,x
[ D 112
r ENTRIES 5298
[ 8.00 308. 0.00
b 84.0 0.489EF +04 0.00
r 0.00 4,00 0.00
P O O E U RVUIN L UU T RN IR S RV
0 2 4 6 8 10 12 14 16 18 20
x of d.c.(cm)
4%
[ D 412
r ENTRIES 5298
[ 16.0 616. 0.00
F 76.0 0.457E+04 0.00
r 0.00 16.0 0.00
I S AU EAEIN RAVUNIN |- PRI U R S R
0 2 4 6 8 10 12 14 16 18 20

x of d.c.(cm)

x of tem(cm)

x of tem(cm)

20

20

X U0

2,x
[ D 212
ENTRIES 5298
[ 12.0 344, 0.00
F 80.0 0.486E+04 0.00
r 0.00 0.00 0.00
L | P R - WA U VRN NI BRI
0 4 8 10 12 14 16 18 20
x of d.c.(cm)
5,x
[ D 512
ENTRIES 5298
[ 48.0 0.248E+04 0.00
F 4470 0.270E+04 0.00
r 0.00 28.0 0.00
L | L elmy
0 4 8 10 12 16 20
x of d.c.(ecm)

x of tem(cm)

x of tem(cm)

20

20

3,%
L ID 312
r ENTRIES 5298
L 16.0 228. 0.00
o 76.0 0.497E+04 0.00
[ 0.00 4.00 0.00
S T T T T T LB S T N O N T RO O
0 2 4 6 8 10 12 14 16 18 20
x of d.c.(cm)
6,x
L ID 612
r ENTRIES 5298
L 76.0 0.414E+04 Q.00
o 16.0 © 0.101E+04 0.00
[ 0.Q0 52.0 0.00
L @ 8 s s
H ‘ * ticems
L L] ]
|- s HBEBEBB
L ] eoEEEfEa
cocEEEE 8
r B o EEEE e
r & FHE E R e
L R
L l B B =
BErREE= B e
B B =
L 8 o °
I O R TI IAR NN EARREN : E I AN A R RENN AR
0 2 4 6 8 10 12 14 16 18 20

x of d.c.(cm

)



x of tem(cm)

x of tem(cm)

20

20

20

x of d.c.(cm

Ty
[ D 122
r ENTRIES 5298
[ 12.0 304. 0.00
b 144, 0.483E+04 0.00
r 0.00 4,00 0.00
F aw
L a
L cEEEe
[ . e a@EEs
v s mEE .
r o - mEE. - -
L caf@B
L - B - -
- BB -
L =8
L [N R RN PR IR BRI
0 8 10 12 14 16 18
x of d.c.(cm)
4y
[ D 422
r ENTRIES 5298
L 36.0 576. 0.00
F 120, 0.455E+04 0.00
r 0.00 12.0 0.00
- ]
L. [ T I EP R R B
0 8 10 12 14 16 18 20

)

x of tem(cm)

x of tem(cm)

20

20

Y U

2y
[ D 222
ENTRIES 5298
[ 12.0 420. 0.00
L 144, 0.472E+04 0.00
r 0.00 4,00 0.00
L by e b b
0 8 10 12 14 16 18 20
x of d.c.(cm)
Sy
[ D, 522
F ENTRIES 5298
[ 88.0 0.262E+04 0.00
5 64.0 0.249E+04 0.00
r 4,00 28.0 0.00
L. N R - U IR RS IR R
0 8 10 12 14 16 18 20

x of d.c.(cm)

x of tem(cm)

x of tem(cm)

20

20

3y

[ D 322
3 ENTRIES 5298
[ 12.0 224, 0.00
F 144, 0.491E+04 0.00
r 0.00 3.00 0.00
L [ VR IR RN BRI BRI
0 8 10 12 14 16 18 20

x of d.c.(cm)

6,y

[ D 622
3 ENTRIES 5298
[ 124, 0.412E+04 0,00
3 232.0 966. 0.00
r 0.00 56.0 0.00
j ®
L -
. & |
[ LN}
r LN::
|- B
L 5a
L Lo Boe L b
0 8 10 12 14 16 18 20

x of d.c.(cm)



oo dobCALvsD.C. U

© 800
-
© /00
>
D 500
(-

@)
500

H

400

500

2 450
S 400
350
300
250
200
150
100
50

en

# of e

D I
Entries

15.05
—0.1264 £ 0.3658E-02
0.2455 £ 0.3357E-02

10
[] Xdc

1D 41
Entries 5298
—0.1949
0.7973
17.00
657.0

ant 381.2 8.311
—0.2001 £ 0.6919E-02
0.4535 + 0.6943E-02

5 10

O
Xtem O Xdc

9500

c

@ 200

>

@ 700

(-

O 600

500
400
300
200
100

N

N~ Oy 0 O N B O OO
o O o o o O o o o

# of events

O

F D 21
Entries 5298
= Mea —0.1551
[ RMS 0.6757
C UDF 1,000
C OVF 439.0
— 4319 / 89
- ant 761.1 + 15.60
o —0.1458 + 0.35156—02
- 0.2320 + 0.3241E—02
E o [ R
—10 —b O 5 10
Xtem O Xdc
- D 51
C Entries 5298
— Meang —0.7564E-01
L 1.332
o 38.00
2553,
C 00.9 / 110
— nt 148.7 + 4.664
- —0.1239 + 0.1319E-01
o 0.6457 + 0.1495E-01
Tl b i e oo bode 1 Lol
—10 -5 5 10

O
Xtem

[] Xdc

~J
O
O

(o)
O
O

@)

# of events

400

5

2

# of events

N
O

00

00

&)
O

o~
O

D 31
Entries 5298
Mea —0.1621
RMS 0.7484
UDF 3.000
OVF 317.0
X/ff436.6 / 93

3 625.6 + 13.49

—0.1637 + 0.4311E-02

0.2896 + 0.4418E-02

5 10

0
Xtem O Xdc

D 61
Entries 5298
Mea —-0.2315
RMS] 2.155
UDFW 46.00
OVF 4306.
Beriose / 123
Coriifant 3723+ 2.100
Me g —0.2426 £ 0.2950E-01
0.8046 + 0.3342E-01




# of events

(@)
O
O

~
O
(@]

[@N
O
O

200

100

Jo0obooboooododcCALvs D.C. O

ID 12
Entries 5298

687.3 + 14.38
—0.1165+ 0.3877E-02
0.2530 + 0.3687E-02

0
Ytem

S 10

[] ch

1D 42
Entries 5298
Meany -0.1764

0.8035
12.00
764.0

3622 / O

bt 3861 + 8.961

—0.1438 + 0.6665E-02
0.4299 + 0.7242E-02

I
S RRIITIIRRX:
R

%
%
%

%

%

,.
R
o6l

7
55

R
5
S

5

(X
2535
25

ote%:®

T
%5
%8
5

2%

%

I

=
o
%5
redets

3%
3%

B
o2etete!

@]
Ytem

|
o 10

[] YdC

200

# of events
O o4 O o U -
(@) (@)l O (@) O (@)l

N
(@)

Y [

D
Entries

7733+ 16.76
—0.1300 £ 0.3368E—-02
0.2193 + 0.3267E-02

T

)

TS
R
055
RIS

\
oL

Ytem O Ydc

52

5298
—0.1401
1.182
30,00
2826.

\
O

419 / 105

146.7 £ 4613
—0.1289 + 0.1280E-01
0.5983 + 0.1346E—01

0

5 10

Ytem O Ydc

2

=700
=500
)

© 500
400
300
200

O @)
O O

# of events
5

ID 32
Entries 5298
Mea -0.1768
RMS 0.6995
UDF 4.000
437.0
ir476.8 / 90
6285+ 14.06

—0.1647 + 0.4210E-02
0.2780+ 0.4456E-02

S 10

Ytem O Ydc

1D 62
Entries 5298
Meang —0.8128E—01
RMS 1,940
UDF 54.00
OVFL| 4320.
/rmilfl905 /118

nt 37.92 + 2.325
—0.1686 £ 0.2872E-01
0.7717 £ 0.3631E-01

o5
paateteree

s
X%
oo

5

10
[] YdC

0
Ytem



# of events

# of events

250

200

400

350

300

250

200

150

100

50

HRERERNRN

U UL Xtem or Yem U U ULOU

D 11221
Entries 50 U)
Mean 8.268 CI 400
RMS 0.5826
UDFLW 0.000 ()]
OVFLW 0.000 >
/ndf 23.65 /2 b} 350
P 2208 & 16.44
P2 8.221 4 0.1443E-01 y—
P3 0.2646+ 0.1484E-01 O oo
250
200
150
100
50
P I I B 0
4 6 8 10 12 14 16 18 20
D 11224
Entries 50 U)||
9.530
0.4651 c 300
0.000 ()]
0.000 >
?/ndf 29.35 / 5 q_)
439.6 £ 19.38 250
9.553+ 0.1139E-01 S
0.3465+ 0.1037E-01 o

4 6 8 10 12

14 16 18

D 11222
Entries 50
Mean 8.686
RMS 0.5892
UDFLW 0.000
OVFLW 0.000
X’/ndf 2595 / 4
P1 407.5 + 17.67
P2 8.659 £ 0.1078E-01
P3 0.2953 + 0.6964E-02

12 14 16 18 20

ID

7841 / 6
330.8 £ 30.02
10.83+ 0.2236E-01
0.2555+ 0.2023E-01




oo

] 00 gaussian U 0 0O 0O O
L0000 mean

o CALOOOUOOOn
Jobobogdug
oot

000
mean 000000000000
(100000 0.4 cm)

Joogbooguod
]

W
Jobootdbobobodgdoood

JocALO0OO0Ooouooogn

Joouoodod
Jooguo

mean O O (cm)

N
O

69

16
14
12

10

14 ‘W6‘ ‘WS‘ ‘20
gooodo (cm)



Joduboooibd

Jdoogoogs.L,uoboggoogod
Jobogdbobootdd
Juoogdoogtd

J4s.L UO0000000O0

.20
-
218
2
516
[%2]
S14
Q.
12
10

8

o NP O

O

radiation length

[ number of events=1 [ number of events=1
r ¥'/nd0.3661 /2 E X/nd0.2543 /2
— P1 0.4270E-01+ 0.2230E-01 [[— P —0.1722E—01 £ 0.2542E—01
C P2 8.434 & 0.1836 | P2 8.809 + 0.2071
Coooa b b b E e b e b b
5 10 15 20 5 10 20

radiation length

bbb odbood

[]

Joooood

- ID 1

C ntries 4006

- X |:| |:| jean  —0.8467E-02

- : 0.6622E—01

C 0.000

- 0.000

Co11 0 ‘ I | ‘ | I | l - L‘ I | ‘ | B | ‘ I |

-2 ~1.5 -1 -0.5 0.5 1 1.5 2
1 O

F ID 2

- Y |:| |:| Fntries 3883

- ean  —0.4723E-02

C 0.6738E-01

E 0.000

C 0.000

7\ L ‘ L L L ‘ L ‘ L ‘ L L L ‘ L ‘ L L

-2 -1.5 —1 -0.5 0.5 1 1.5 2




~ 20
L
s

()
°

516

514

O
12
10

o N B~ O

JssSLubguogun

i number of events=1

F X

c X'/ndf 1.023 /3

— P 0.3271E-01+ 0.1860E-01

C P2 8493+ 0.1686

= R R N N B A R I B R

o) 5 10 15 20
radiation length

i number of events=2

X

C x/ndf0.4888 /3

— Pl —03163E-01+ 0.2479E-01

c P2 9.707 & 0.1750

- ———

= R SR R R B R R B

0] 5 10 15 20

radiation length

pulse height

pulse height

N
N O 00 O

o N MO 0 O N

o LN
N O 00 O

o N M O O N

i number of events=1

E X'/ndf 1857 /3

— P —0.6707E-01 £ 0.2273E-01

C P2 9.109 £ 0.1958

E L4 " S [

= +

= RN T T T A B N MO B B

0 ) 10 15 20
radiation length

i number of events=3

X

C X/ndf 1.830 / 3

— P1 —~0.8428E-02 + 0 1990E-01

C P2 9.486 + 0.1547

— s

- R AR R AR R R A R

0 5 10 15 20

radiation length

9N 00

c

@ 600

>

D 500

[T

O 400
300
200

100

X

2174
—0.3993E-02
0.6276E-01
0.000

0.000

\
N

-1.5 ~1 0.5 1 1.5

2 2

= 1943

— Y [ L] -0.3407E-02

= 0.5935E-01

e 0.000

= 0.000

:\ | ‘ I N — ‘ | L_‘ I N — ‘ ‘ I
2 ~1.5 ~1 0.5 1 1.5




NN
>~ O 00 O

pulse height

IO
O NP~ O 0 O N

pulse height

~ O O

esSLUubddoodon

i number of events=2

X

C X/ndf 2422/ 4

— Pl —0.5338E-01+ 0.1797E-01

c P2 9.820 + 0.1508

[ "N "

E ' ]

oo b b L

0 5 10 15 20
radiation length

i number of events=15

E X/ndf 1684 / 4

— P 0.2304E-01+ 0.2142E-01

C P2 9335+ 02307

E ¢

B [ ¢

oo b b

0 5 10 15 20

radiation length

pulse height

N
N O 00 O

pulse height

O N MO 0 O N

4\4\4\4\4\[\)
O N M OO 0 O N DM O 0 O

i number of events=15

FX

C }/nd00694 /4

— P1 -0.1313E-01+ 0.2117E-01

C P2 8.043 + 0.1795

— y

SRR RN AR BN

0 5 10 15 20
radiation length

i number of events=21

F X

C X/ndf 2724/ 4

— P1  —0.2253E-01+ 0.2119E-01

C P2 10.29 + 0.2296

: a L

C ¢ ’

r [}

I R BRI SRR

0 5 10 15 20

radiation length

¢ 200
d—
75
(b)
> 150
((b)

X

\
N

ID

tries
an
S
FLW
FLW

1

493
—0.1663E-02
0.6770E-01
0.000

0.000

-1.5 —1 -0.5 0 0.5 1 1.5

= D 2

- tries 487

E YOO an  —0.2669E-02

= S 0.6614E-01

- FLW 0.000

E FLW 0.000

E L ‘ I . ‘ L1 L ‘ L L1 J.. I N — ‘ ‘ I N
-15 -1 -0.5 0 0.5 1 1.5




Jrdlsugdddubooobogddnn

Jobotdbobotdtdbobotgdooodd
Jootdbootdbooun

(I muon [J O 0 O calibration constant U1 U O O O O [
D000 oOoooononon 50ADC counts U O O O

JoocALUbDOdoodoogod
oottt oootdd

JodogcALOUbDOooboooooouogn
Juobogbbotdbbogtubotgtgbtotobtgugbgubuoun



